# Wesdome Gold Mines Ltd. Provides Comprehensive Eagle River Exploration Update

03.09.2025 | GlobeNewswire

High Grade 6 Central Zone Extended by 300 Metres with Intercepts Including 115.9 g/t Gold (Cut) Over 1.6 Metres (True Width)

Wesdome Gold Mines Ltd. (TSX:WDO, OTCQX:WDOFF) ("Wesdome" or the "Company") today provides an update on its exploration activities at its wholly-owned Eagle River mine ("Eagle River") near Wawa, Ontario, Canada (Figures 1 and 2).

Anthea Bath, President and Chief Executive Officer, commented, "We're highly encouraged by the latest underground exploration results at Eagle River, particularly in the 6 Central Zone, which has now been extended by 300 metres to over 600 metres down-plunge. High-grade intercepts over mineable widths are reminiscent of early drill results at similar depths in Eagle River's 300 Zone, and the zone's location at intermediate depth near existing infrastructure supports its potential for future resource conversion.

"Work also remains on track across other underground targets. At Falcon 311, drilling is extending mineralization down-plunge and to the west, while early surface drilling at Falcon 720 has returned visible gold and anomalous intercepts. In the 300 Zone, structural reinterpretation indicates the 300 Fold Zone comprises discrete mineralized lenses on a separate structure, with high-grade trends open down dip and laterally. This reinterpretation is consistent with publicly disclosed models for other Archean orogenic systems in the Michipicoten belt (e.g. Island Gold), where high-grade mineralization occurs as discrete stacked lenses on separate shear splays and remains open laterally and at depth. This opens new exploration avenues with high-grade trends continuing down dip and laterally. Drilling will continue into 2025 to follow up on these promising developments.

"Regionally, drilling across multiple targets continues to validate our exploration model. High-grade surface drilling results near the 6 Zone and 2 Zone to the east, together with encouraging intercepts at IP anomalies to the west, point to strong potential for extensions. Additionally, ongoing drilling at Dorset, Birch Vein, Cameron Lake Iron Formation, and Eagle River Splay underscores the broader discovery potential across our 400 km² land package.

"Another major focus in the first half of this year has been on conversion drilling underground with almost 80,000 metres at Eagle River drilled since January. With our global model program and upcoming technical report in 2026, our primary aim is to convert as much material as we can before the year-end drilling cutoff date."

Highlights

6 Central Zone (Figure 3, Table 1)<sup>1</sup>

Drilling confirms high-grade trend and resource expansion potential

- Hole 758-E-580: 115.9 g/t Au uncapped over 1.8 m core length (115.9 g/t Au capped, 1.6 m true width)
- Hole 758-E-570: 49.1 g/t Au uncapped over 2.2 m core length (49.1 g/t Au capped, 2.0 m true width)
- Hole 25-805-12: 47.0 g/t Au uncapped over 3.4 m core length (47.0 g/t Au capped, 3.2 m true width)

300 and 300 Fold Zones (Figure 4, Table 1)2

Geological model confirmed with the interpretation of the 300 Fold as a separate structure

- Hole 1201-E-87: 18.5 g/t Au uncapped over 1.5 m core length (18.5 g/t capped, 0.8 m true width)
- Hole 1224-E-04: 23.8 g/t Au uncapped over 2.3 m core length (17.5 g/t capped, 1.7 m true width)

07.12.2025 Seite 1/16

• Hole 1224-E-03: 10.6 g/t Au uncapped over 1.5 m core length (10.6 g/t capped, 1.2 m true width)

720 Falcon Zone (Figure 5, Table 1)<sup>4</sup>
Confirming exploration potential open up-plunge and to the west

- Hole 25-355-07: 32.6 g/t Au uncapped over 1.8 m core length (32.6 g/t capped, 1.7 m true width)
- Hole ERS-2025-027: 11.0 g/t Au uncapped over 1.7 m core length (11.0 g/t capped, 1.0 m true width)

Falcon 311 Zone (Figure 6, Table 1)<sup>5</sup>
Infill drilling confirms the potential to add to mineable inventory

• Hole 857-E-108: 28.0 g/t Au uncapped over 10.0 m core length (14.6 g/t capped, 3.9 m true width)

Dorset Zone (Figure 7, Table 1)<sup>6</sup>
Deposit remains open with extensions to the east

- Hole GS-25-219: 35.2 g/t Au uncapped over 1.0 m core length
- Hole GS-25-208: 1.8 g/t Au uncapped over 19.0 m core length
- Hole GS-25-205: 1.7 g/t Au uncapped over 18.0 m core length
- Hole GS-25-240: 6.8 g/t Au uncapped over 3.8 m core length
- <sup>1</sup> No top cut was defined for this vein.
- <sup>2</sup> Assays capped at 295 g/t.
- <sup>3</sup> Assays capped at 60 g/t.
- <sup>4</sup> Assays capped at 180 g/t.
- <sup>5</sup> Assays capped at 30 g/t.
- <sup>6</sup> No top cut or true width defined.

**Technical Details** 

6 Central and 6 Central Parallel Zones

Drilling in the 6 Central and 6 Central Parallel zones in the first half of 2025 totaled almost 18,000 metres across 65 holes. Results to date have demonstrated that both zones remain open down dip and laterally with geologic logging and assays confirming the extension of the 6 Central high-grade trend approximately 300 metres down dip and bringing the total extent of the high-grade zone to over 600 metres down-plunge.

Importantly, drilling to date is closing the drill spacing towards hole 758-E-500, which intersected 40.0 g/t Au over 8.0 metres (uncapped, downhole thickness). This significant intercept, located more than 150 metres down-plunge of the existing resource, was excluded from the year-end 2024 resource update as there were insufficient drill holes nearby to meet resource classification criteria. The aim is to extend drilling and incorporate the hole and intercept into the next resource update.

Assay results suggest the potential to define additional mineralized lenses in the 6 Central Zone with oriented core drilling and the collection of supporting structural data currently underway.

300 and 300 Fold Zones

In the 300 Zone, drilling has been focused primarily on infilling and validating the year-end 2024 interpretation of the 300 Fold Zone. Previous interpretations in the 300 Fold Zone highlighted a potential fold hinge, which was interpreted as contributing to higher grades and thicker intercepts observed during drilling. This interpretation presented important implications for the geological and structural projections of mineralization in the area and guided subsequent follow-up drilling.

07.12.2025 Seite 2/16

New drill results and oriented drill core have resulted in a revised interpretation from a folded domain to more discrete mineralized lenses. The 300 Fold Zone is now interpreted as being a separate structure to the main 300 Zone mineralization, and the mineralization is plunging at a more moderate angle than the steeper plunging 300 Zone. Further drilling is planned later in 2025 to evaluate down-plunge continuity. The high-grade trend remains fully open down dip and laterally.

#### Falcon 311 and 720 Zones

Drilling at Falcon 311 has been aimed at converting lower category resource material and evaluating the down-plunge continuation of mineralization to the southwest and southeast with hole 857-E-94 successfully extending high-grade mineralization by approximately 50 metres down-plunge. The Falcon 311 Zone remains a key focus for resource conversion and potential expansion, and further drilling is scheduled in the fall to evaluate the western continuation of mineralization beyond that intercepted in hole 857-E-64 (15.2 g/t over 2.5 metres).

The Falcon 720 Zone remains open both up-plunge and to the west and drilling has been completed from both surface and underground to evaluate the potential. Surface drilling to advance understanding of this area has commenced with the first 10 surface holes drilled in the first half of 2025. These holes were designed to evaluate the up-plunge continuation of the mineralization towards surface. Several of the holes intersected visible gold and quartz veining. Assays from the program have been received, with five anomalous intercepts reported. Early results and geological interpretation suggest this area may represent a new exploration frontier for Eagle River, warranting follow-up drilling.

A second phase of drilling is planned to evaluate the continuity of mineralization and to test material extending into the 60-metre-thick crown pillar above the Falcon 720 Zone. The results of this program will be included in the model updates for the technical report with further drilling from underground to begin after review of assay results.

## Global Model (Figure 8)

The global model initiative, a key element of Eagle River's fill-the-mill strategy, is targeting both underground and surface material situated near existing infrastructure. Subject to successful infill and QA/QC drilling, together with favorable economic evaluations, this material has the potential to be upgraded to a higher-confidence resource category. As a source of potentially lower-cost incremental ore, it could then enhance mill throughput without displacing higher-grade material.

A total of 32 underground target areas were initially identified for follow-up work, however, a recent data review uncovered additional zones with similar resource conversion potential previously excluded from the current database. To advance this work, a nine-month program has been launched, with four rigs currently drilling the first 40,000 metres. Results from this program will be incorporated into an updated technical report in mid-2026.

All 12 surface holes completed to date across a 300-metre strike length between the 6 Zone and 2 Zone mineralized domains have intersected quartz veining with sulphide mineralization. While the majority of assay results are pending, two holes have returned results to date, each yielding one anomalous intercept, including hole ERS-2025-035, which intersected 1.1 metres at 19.0 g/t Au from 71.5 metres (downhole thickness, uncapped). Further drilling is planned following receipt of the remaining assays.

## Regional Exploration (Figure 9)

Wesdome's company-wide exploration strategy, designed to support, extend, and expand operations over the long-term, is advancing and playing a key role in integrating the recently acquired land package from Angus Gold. Over the past six months, focused exploration efforts at Eagle River, including work on the Angus Gold properties, has identified 176 exploration targets beyond the currently defined resources. The broader objective is to develop tailored work programs and budgets for the next three years and to ensure their successful execution, ultimately supporting the extension of Eagle River's mine life.

07.12.2025 Seite 3/16

Near term focus on global model and updated technical report (next 12 months)

Of the 176 identified targets at Eagle River without a defined resource, 40 have been earmarked for short-term exploration work. Surface targets include the Mishi-Magnacon historic mine areas and the greater Dorset area.

In addition to the planned 40,000 metres of drilling underground at Eagle River, approximately 10,000 metres of drilling are planned at Mishi-Magnacon to assess the down-plunge continuity of the Mishi deposit below the open pit, testing gaps west of the current drilling areas and twinning historic intercepts. The aim of the Mishi work is to update the mineral resource and review potential extensions to the mineralization. Drilling at Magnacon will incorporate oriented drill core to obtain structural information, and is designed to twin historic intercepts, evaluate geologic ideas on controls of higher-grade mineralization, and confirm the positions of some key historic underground workings. Together with surface geologic and structural mapping programs, this data will be incorporated into geologic and resource model updates for both deposits.

Drilling commenced earlier in the year at Dorset with approximately 3,300 metres completed on the Dorset Main and Dorset West zones. The drilling was designed to twin historic intercepts, evaluate lateral continuity, and provide samples for geo-metallurgical test work in support of an update to the historical Dorset resource, as well as define the continuity of recently reported high-grade drill intercepts at the Dorset West target. Definition drilling has the potential to define a new resource in the area, underpinning a solid foundation for future exploration and resource growth.

Two notable new intersections have been reported along the eastern edge of the historic resource area where drill hole GS25-208 returned 19.0 metres at 1.8 g/t Au (downhole thickness, uncapped), including 5.3 metres at 6.0 g/t Au and GS25-205 returned 18.0 metres at 1.7 g/t Au (downhole thickness, uncapped) including 7.0 metres at 2.8 g/t Au and 3.0 metres at 2.2 g/t Au. The GS25-208 intersection represents a 100-metre step-out from previous drilling conducted by Angus Gold and demonstrates that the mineralized trend remains open. Assays are still pending for 22 holes drilled in the Dorset Zone.

Medium-term focus on developing longer-term targets on mining permit areas (1-3 years)

At Eagle River, 30 targets have been identified as medium-term priority, targeting discoveries in the one-to-three-year time horizon. The majority of these targets are down-plunge continuations of existing mineralized structures and when combined represent a significant endowment potential. These targets will require substantial amounts of drilling and initial proof-of-concept drill programs for these targets are in the design and budgeting stage, with drilling expected to commence in 2026.

Other medium-term targets include potential down-plunge extensions of the Magnacon and Mishi deposits, Induced Polarization ("IP") targets generated proximal to the Eagle River mine, and the Cameron Lake Iron Formation target acquired from Angus Gold.

As part of the ongoing surface exploration program, an IP survey was completed in 2024, covering an area of 2 km² in the west-to-southwest area of the Eagle River mine. The survey identified several potential prospective geophysical features and potential drill targets with favorable chargeability and resistivity readings. Two areas were flagged for priority follow-up work. Anomaly A, which is located west of the Falcon Zone at the edge of the diorite hosting the Eagle River mine mineralization, and Anomaly D, which is located further south on the edge of a large granitic intrusive. Drill evaluation commenced before the end of 2024 and continued into 2025 with five holes completed to date.

Two of the five holes returned anomalous intercepts with follow-up drilling on both areas planned for later in the year. At Anomaly D, hole ERS-2025-002 intersected 0.6 metres at 33.4 g/t Au from 15.0 metres (downhole thickness, uncapped). Hole ERS-2025-003 was drilled to evaluate a geophysical response located 500 metres north of Anomaly D. The hole intersected 2.5 metres at 7.6 g/t Au from 73.5 metres (downhole thickness, uncapped). Follow up programs are being planned.

Currently, a larger 7.4 km² IP grid is being surveyed west of the Falcon Zone, to build upon the coverage of the 2024 grid. Additionally, an IP survey is planned for the Abbey Lake exploration area in the fall of 2025. This upcoming work is expected to refine drill targets and enhance the geological understanding of the

07.12.2025 Seite 4/16

property's subsurface potential.

Infill drilling is also underway within the previously defined Banded Iron Formation-hosted gold zone located on the property acquired from Angus Gold. The primary objective of the drilling program is to begin defining the geometry of the gold zones at depth, improving the geological model, obtaining material for preliminary deportment studies, and supporting future resource evaluations. In addition to infill work, exploration drilling is also planned both to the east and west of the known gold zone to test for potential extensions and continuity of mineralization along strike.

Long-term focus on target generation and testing early-stage concepts (3+ years)

The long-term target generation strategy at Eagle River includes regional geologic history, lithostructural frameworks, and pathways for gold migration and concentration. The work at the Eagle River mine, incorporating underground mapping and drill information to generate 3D models, is a small version of the concept and project-wide aims of this work. Analysis of these 3D models has identified further exploration targets within the diorite hosting the Eagle River mine (Figure 10).

There are currently 106 targets identified for long-term exploration work, including 15 surface targets on mine permit areas, and a further 91 targets on exploration claim areas reflecting various levels of exploration maturity. Three target areas that have been flagged for higher priority work are Birch Vein, Eagle River Splay, and Abbey Lake. Work programs and budgets to advance these target areas are in development.

At Birch Vein, located approximately 2 km northeast of the Eagle River mine, fifteen reconnaissance holes were drilled to evaluate high grade historic rock chip results (48 g/t Au and 194 g/t Au) in an area associated with a splay of the northwest trending Eagle River Splay Shear. Several of the holes intersected smoky quartz veins, up to 0.5 metres in thickness, with strong biotite alteration. Only two assays have been received to date, with two anomalous intercepts reported in hole ERS-2025-005 which intersected 1.8 metres at 0.6 g/t Au from 352.0 metres (downhole thickness, uncapped) and 0.8 metres at 1.0 g/t Au from 375.6 metres (downhole thickness, uncapped). The target is considered a high-priority area as the deformed and interlayered mafic and felsic volcanic rock units at the Eagle River Splay Shear closely mimic the geologic setting of Eagle River's Falcon Zone.

The Eagle River Splay target is located to the northwest of the Birch Vein target and is interpreted as being the continuation of the Eagle River Splay shear structure. Drilling scheduled for the third quarter will follow up on previously reported anomalous intercepts drilled by Angus Gold, including holes GS23-100, which returned 1.5 metres at 48.7 g/t Au from 112.3 metres (downhole thickness, uncapped) and hole GS23-135, which returned 5.4 metres at 2.0 g/t Au from 158.8 metres (downhole thickness, uncapped). The upcoming program will also evaluate other newly identified IP anomalies which remain untested.

The Abbey Lake exploration target area is a 10-kilometre-long section of the Pukaskwa Deformation Zone, a northeast trending regional scale structure that is interpreted as extending towards and into the Island Gold mine owned by <u>Alamos Gold Inc.</u> This structural corridor remains largely untested with historic grab samples from the area returning gold values of up to 32 g/t Au at surface and historic drilling producing anomalous intercepts that were never followed up. The target area is close to the property access road and is considered a priority work area for the coming years. Field programs and scout drilling are being planned for 2026.

### About Wesdome

Wesdome is a Canadian-focused gold producer with two high-grade underground assets, Eagle River in Northern Ontario and Kiena in Val-d'Or, Québec. The Company's primary goal is to responsibly leverage its operating platform and high-quality brownfield and greenfield exploration pipeline to build a growing value-driven gold producer.

Raj Gill Trish Moran

Interim Chief Financial Officer Vice President, Investor Relations

Phone: +1.416.360.3743 Phone: +1.416.564.4290

E-Mail: invest@wesdome.com E-mail: trish.moran@wesdome.com

07.12.2025 Seite 5/16

#### **Technical Disclosure**

The sampling of, and assay data from, Eagle River mine drill core is monitored through the implementation of a quality assurance - quality control (QA/QC) program designed to follow industry best practice. Underground drill samples are transported in sealed bags to the Eagle River laboratory in Wawa, Ontario (which is operated by Wesdome, is not independent, and is not accredited). Samples are analyzed for gold using standard fire assay technique with gravimetric finish. Wesdome inserts blanks and certified reference standards into the sample sequence for quality control at the laboratory. The QA/QC procedure is described in more detail in the Technical Report for the Eagle River Gold Mining Complex, Ontario, Canada filed under the Company's profile on SEDAR+ on April 22, 2022. In 2024, core sample length was changed from 0.3 m to 0.5 m, while respecting lithological contacts. Pulps are sent to SGS (an ISO/IEC 17025:2017 accredited and independent laboratory), as an external laboratory check of Au assay, run in duplicate, with a sample frequency of 30 to 40 samples selected each month.

Surface drilling, the drill core, NQ in size, was cut in half with a diamond saw resulting in a half core sample for assay and a half core sample to be retained for reference. Samples were transported in sealed bags by laboratory registered courier trucks and transported to AGAT Laboratories in Thunder Bay, Ontario (an ISO/IEC 17025:2017 accredited and independent laboratory, accredited lab No. 665) for preparation and analysis. Pulps are analyzed by fire assay and AAS finish (AGAT method 202-051). Samples that graded more than 10 g/t Au were subsequently tested by gravimetric (202-064) and metallic screen (202-121) assays. AGAT laboratories is an accredited lab (ISO/IEC 17025:2017, accredited lab No. 665). Halved drill core is kept stored at the Eagle River Complex in core racks for long-term storage. Pulps are returned to Wesdome and are stored in a sea-canister at the operations office in the Mishi camp. QA/QC is achieved with a 3-sample package (a blank, a pulp duplicate and a commercial gold standard) that are inserted into the sample stream at an interval of 20 samples. Consequently, 15 QA/QC samples are inserted for each 100 samples. Additionally, blanks were inserted after visible gold is observed to prevent contamination between samples.

For Angus property surface drill core, the drill core, NQ in size, was cut in half with a diamond saw resulting in a half core sample for assay and a half core sample to be retained for reference. Samples were transported in sealed bags by laboratory registered courier trucks and transported to AGAT Laboratories in Thunder Bay, Ontario (ISO/IEC 17025:2017 accredited and independent) for preparation and analysis. Halved drill core is kept stored at the Golden Sky Exploration Camp in core racks for long-term storage. Pulps were returned to the Golden Sky Camp and stored in sea-canister at the operations office for future reference. A strict QA/QC program was applied to all samples, which included insertion of mineralized certified reference material and blank samples for each batch of 20 samples. The gold analyses were completed by fire-assay with an atomic absorption finish on 50 grams of materials. Repeats were carried out by fire-assay followed by gravimetric testing on each sample containing 3.0 g/t gold or more.

The technical content of this release has been compiled, reviewed, and approved by Renan Lopes, P.Geo., Director, Resources, Near Mine Geology and UG Exploration for Wesdome and Breanne Beh, P.Geo., Director Surface and Greenfields Exploration for Wesdome, whom are the Company's "Qualified Person" as defined in National Instrument 43-101 - Standards of Disclosure for Mineral Projects.

## Forward-Looking Statements

This news release contains "forward-looking statements or information". Often, but not always, forward-looking statements can be identified by the use of words such as "plans", "expects", "is expected", "budget", "scheduled", "estimates", "forecasts", "intends", "anticipates", or "believes" or variations (including negative variations) of such words and phrases, or state that certain actions, events or results "may", "could", "would", "might" or "will" be taken, occur or be achieved.

Forward-looking statements or information contained in this news release include, but are not limited to, the following statements relating to Eagle River with respect to: the 6 Central Zone being a key target for underground exploration; all other underground focus areas remaining highly prospective; the early surface drilling results at Falcon 720 and the suggestion of the emergence of a potential new exploration frontier; the planned drilling continuing through the fall of 2025; the high-grade trends and planned continued drilling of the 300 Fold Zone; the strong potential for extensions of the mine due to drilling results near the 6 and 2 Zones; the discovery potential across the 400 km2 land package; results demonstrating the 6 Central and 6

07.12.2025 Seite 6/16

Central Parallel zones remaining open down dip and laterally; the aim to extend drilling and incorporate hole 758-E-500 and intercept into the next resource update; assay results suggesting the potential to define additional mineralized lenses in the 6 Central Zone; the new interpretation of the 300 Fold Zone, expected mineralization and the planned drilling to evaluate down-plunge continuity; Falcon 311 Zone being a key focus for resource conversion and potential expansion, and the timing of further scheduled drilling; the suggestion of the Falcon 720 Zone representing a new exploration frontier for Eagle River; the timing and objective of the planned drilling above the Falcon 720 Zone, the plan to include the results in the model updates for the technical reports and the timing of the commencement of further drilling from underground; the Global Model material having the potential to be upgraded to a higher-confidence resource category and the possibility of it enhancing mill throughout without displacing higher-grade material; incorporating the results from the nine-month program into an updated technical report in mid-2026; the broader objective of the regional exploration strategy; the short-term focus surface targets; the planned metres of underground drilling and drilling at Mishi-Magnacon; the aim of the Mishi work; the endowment potential of the medium-term priority targets; the expectations of the IP survey work for Abbey Lake; the planned infill work and exploration drilling to the east and west of the known gold zone within the Banded Iron Formation; the interpretation of the Eagle River Splay target located to the northwest of the Birch Vein target, the scheduled associated drilling and the objective of the upcoming program; the interpretation of the Abbey Lake exploration target area and the timing of the planned field programs and scout drilling; the prospectivity of the Eagle River asset; the high-grade mineralization potential of the 6 Central Zone and the opportunity to establish a new mining front at its intermediate depth; the 300 Zone's exploration and resource conversion potential; the expected unlocking of economic mineralization close to surface due to the global resource model initiative; the anticipated development of the 6 Central Zone and its near to mid-term mining accessibility; the potential increased output from intermediate depths with minimal investment of the 6 Central Parallel Zone; the expectation that the majority of the mill feed is expected to be sourced from the 300 Zone in the coming years; the 300 Zone's exploration potential and future resource conversion opportunities; the plans of the 2025 drill metre program; the exploration priorities of 2025; the potential conclusions of the IP trends identified by the IP survey with respect to the presence of certain types of minerals as well as the potential mineralization; and the expected continuance of the drilling of the survey area of the IP survey in 2025.

Forward-looking statements involve known and unknown risks, uncertainties and other factors which may cause the actual results, performance or achievements of the Company to be materially different from any future results, performance or achievements expressed or implied by the forward-looking statements. Forward-looking statements contained herein are made as of the date of this press release and the Company disclaims any obligation to update any forward-looking statements, whether as a result of new information, future events or results or otherwise, except as required by securities legislation. There can be no assurance that forward-looking statements will prove to be accurate, as actual results and future events could differ materially from those anticipated in such statements. Accordingly, the reader is cautioned not to place undue reliance on forward-looking statements.

Furthermore, should one or more of the risks, uncertainties or other factors materialize, or should underlying assumptions prove incorrect, actual results may vary materially from those described in forward-looking statements or information. These risks, uncertainties and other factors including those risk factors discussed in the sections titled "Cautionary Note Regarding Forward Looking Information" and "Risks and Uncertainties" in the Company's most recent Annual Information Form. Readers are urged to carefully review the detailed risk discussion in our most recent Annual Information Form which is available on SEDAR+ and on the Company's website.

## **APPENDIX**

Figure 1: Eagle River Mine Long Section Looking North

Figure 2: Eagle River Mine Plan View1 - Drilling Since Last News Release

Figure 3: 6 Central Zone Long Section Looking North

07.12.2025 Seite 7/16

Figure 4: 300 Zone and 300 Fold Zone Long Section Looking North

Figure 5: 720 Falcon Zone Long Section Looking North

Figure 6: Falcon 311 Zone Long Section Looking North

Figure 7: Dorset Plan View

Figure 8: Global Model Targets Long Section Looking North

Figure 9: Eagle River 2025 Regional Work Plan

Figure 10: Eagle River Near Mine Targets Plan View

Table 1: Eagle River Drill Results (Previously Unreleased)

# Composite Results

Figures in table may not add due to rounding

Hole No. From To Core Estimated Grade Cut Grade (m) (m) Length (m) True Width (m) (g/t Au) (g/t Au) Target

## 6 Central and 6 Central Parallel

25-805-02 133.58 134.97 1.39 1.18 36.02 36.02 6 Central 25-805-12 117.95 121.35 3.40 3.18 47.03 47.03 6 Central 758-E-533 173.70 175.20 1.50 1.43 21.44 21.44 6 Central 758-E-539 169.50 171.00 1.50 1.44 12.47 12.47 6 Central 758-E-552 176.70 178.20 1.50 1.48 52.97 52.97 6 Central 758-E-561 172.77 174.60 1.83 1.82 33.84 33.84 6 Central 758-E-570 190.60 192.80 2.20 2.04 49.08 49.08 6 Central

07.12.2025 Seite 8/16

```
758-E-571 193.00 195.00 2.00 1.86 38.37 38.37 6 Central 758-E-578 199.40 201.00 1.60 1.40 13.21 13.21 6 Central 758-E-580 192.15 194.00 1.85 1.58 115.90 115.90 6 Central 758-E-582 170.63 172.40 1.77 1.55 19.19 19.19 6 Central Parallel
```

#### 300 and 300 Fold Zone

```
1201-E-80 511.89 513.89 2.00 1.17 4.75 4.75 300 Zone
1201-E-87 523.88 525.40 1.52 0.80 18.49 18.49 300 Zone
1224-E-03 256.40 257.90 1.50 1.16 10.59 10.59 300 Fold Zone
1224-E-04 262.10 264.35 2.25 1.71 23.83 17.54 300 Fold Zone
1224-E-05 312.50 314.00 1.50 1.19 9.80 9.80 300 Fold Zone
```

## 720 Falcon and Falcon 311 Zone

```
25-355-03 198.60 200.21 1.61 1.20 8.27 8.27 720 Falcon 25-355-06 171.95 173.20 1.25 1.06 2.29 2.29 720 Falcon 25-355-07 152.10 153.90 1.80 1.74 32.57 32.57 720 Falcon ERS-2025-027 274.30 276.00 1.70 0.98 11.03 11.03 720 Falcon 857-E-108 291.00 301.00 10.00 3.90 27.95 14.61 311 Zone 857-E-109 339.50 340.90 1.40 0.42 2.02 2.02 311 Zone 857-E-94 430.35 432.07 1.72 0.31 7.92 7.92 311 Zone
```

### Dorset

```
GS-25-184 169.00 172.30 3.30 --- 2.19 --- Dorset West including 170.30 171.30 1.00 --- 6.14 --- Dorset West GS-25-185 287.20 291.00 3.80 --- 1.81 --- Dorset West including 287.20 289.50 2.30 --- 2.66 --- Dorset West GS-25-188 21.00 28.10 7.10 --- 1.56 --- Dorset West including 22.00 25.00 3.00 --- 2.18 --- Dorset West GS-25-193 50.20 61.30 11.10 --- 0.48 --- Dorset West including 50.20 51.00 0.80 --- 2.34 --- Dorset West including 59.50 60.50 1.00 --- 1.39 --- Dorset West GS-25-193 151.00 152.40 1.40 --- 2.12 --- Dorset West including 151.80 152.40 0.60 --- 4.80 --- Dorset West
```

Hole No. From (m) To (m) Core Estimated Grade Cut Grade Target Length (m) True Width (m) (g/t Au) (g/t Au)

### Dorset

```
GS-25-199 79.00 95.00 16.00 --- 0.66 --- Dorset including 80.00 82.00 2.00 --- 1.31 --- Dorset including 88.00 90.00 2.00 --- 1.44 --- Dorset including 92.00 94.00 2.00 --- 1.19 --- Dorset GS-25-199 112.00 113.00 1.00 --- 1.04 --- Dorset GS-25-199 116.00 117.00 1.00 --- 1.28 --- Dorset GS-25-200 222.50 238.00 15.50 --- 0.38 --- Dorset West including 222.50 223.00 0.50 --- 4.10 --- Dorset West
```

07.12.2025 Seite 9/16

```
including
          237.50 238.00 0.50 --- 1.32 --- Dorset West
GS-25-205 361.50 379.50 18.00 --- 1.71 --- Dorset
          363.00 370.00 7.00 --- 2.76 --- Dorset
including
          368.00 369.00 1.00 --- 5.30 --- Dorset
including
including
          372.00 375.00 3.00 --- 2.18 --- Dorset
GS-25-208 273.50 292.50 19.00 --- 1.77 --- Dorset
including
         285.80 291.10 5.30 --- 6.00 --- Dorset
GS-25-219 119.00 120.00 1.00 --- 35.20 --- Dorset West
GS-25-219 123.90 124.80 0.90 --- 1.07 --- Dorset West
GS-25-219 174.00 175.00 1.00 --- 1.22 --- Dorset West
GS-25-219 215.70 216.90 1.20 --- 1.33 --- Dorset West
GS-25-221 128.40 140.00 11.60 --- 1.90 --- Dorset
including
         130.40 133.40 3.00 --- 3.07 --- Dorset
including
          136.40 137.40 1.00 --- 2.25 --- Dorset
GS-25-222 44.50 48.40 3.90 --- 1.88 --- Dorset
GS-25-222 76.10 77.70 1.60 --- 3.30 --- Dorset
including 77.00 77.70 0.70 --- 4.80 --- Dorset
GS-25-224 6.30
                 9.80
                         3.50 --- 3.14 --- Dorset
GS-25-224 54.50 56.10 1.60 --- 1.80 --- Dorset
including 55.30 56.10 0.80 --- 2.54 --- Dorset
GS-25-225 4.80
                 7.90
                        3.10 --- 3.28 --- Dorset
including 6.00
                 7.00
                        1.00 --- 5.80 --- Dorset
GS-25-225 22.90 24.50 1.60 --- 2.00 --- Dorset
GS-25-227 49.00 63.10 14.10 --- 0.98 --- Dorset
including 58.10 62.10 4.00 --- 2.09 --- Dorset
GS-25-230 136.00 154.00 18.00 --- 1.05 --- Dorset
including
          143.30 145.90 2.60 --- 2.78 --- Dorset
including
          153.30 154.00 0.70 --- 3.00 --- Dorset
GS-25-231 105.20 119.70 14.50 --- 1.70 --- Dorset
including
          106.10 109.90 3.80 --- 2.85 --- Dorset
including
          111.80 113.80 2.00 --- 2.85 --- Dorset
including
          118.30 119.00 0.70 --- 4.50 --- Dorset
GS-25-240 35.90 39.70 3.80 --- 6.83 --- Dorset
including 36.90 38.80 1.90 --- 10.54 --- Dorset
```

# Assay Results

# Figures in table may not add due to rounding

Hole No.		From (m)	To (m)	Core Length (m)	Grade (g/t Au)	Cut Grade (g/t Au)	Target
758-E-5	33	173.70	174.20	0.50	0.00	0.00	6 Central
758-E-5	33	174.20	174.73	0.53	60.67	60.67	6 Central
758-E-5	33	174.73	175.20	0.47	0.00	0.00	6 Central
758-E-5	39	169.50	170.00	0.50	0.23	0.23	6 Central
758-E-5	39	170.00	170.60	0.60	30.93	30.93	6 Central
758-E-5	39	170.60	171.00	0.40	0.07	0.07	6 Central
758-E-5	52	176.70	177.20	0.50	2.03	2.03	6 Central
758-E-5	52	177.20	177.70	0.50	147.80	147.80	6 Central
758-E-5	52	177.70	178.20	0.50	9.07	9.07	6 Central
758-E-50	61	172.77	173.27	0.50	20.43	20.43	6 Central

07.12.2025 Seite 10/16

758-E-561	173.27 173.77 0.50	8.57	8.57	6 Central
758-E-561	173.77 174.27 0.50	74.93	74.93	6 Central
758-E-561	174.27 174.60 0.33	30.20	30.20	6 Central
758-E-570	190.60 191.00 0.40	113.60	113.60	6 Central
758-E-570	191.00 191.70 0.70	0.93	0.93	6 Central
758-E-570	191.70 192.20 0.50	0.50	0.50	6 Central
758-E-570	192.20 192.80 0.60	102.73	102.73	6 Central
758-E-571	193.00 194.00 1.00	65.97	65.97	6 Central
758-E-571	194.00 195.00 1.00	10.77	10.77	6 Central
758-E-578	199.40 200.05 0.65	0.20	0.20	6 Central
758-E-578	200.05 200.50 0.45	6.20	6.20	6 Central
758-E-578	200.50 201.00 0.50	36.43	36.43	6 Central
758-E-580	192.15 192.70 0.55	1.37	1.37	6 Central
758-E-580	192.70 193.30 0.60	0.00	0.00	6 Central
758-E-580	193.30 193.60 0.30	652.60	652.60	6 Central
758-E-580	193.60 194.00 0.40	44.70	44.70	6 Central
25-805-02	133.58 134.10 0.52	71.57	71.57	6 Central
25-805-02	134.10 134.97 0.87	14.77	14.77	6 Central
25-805-12	117.95 118.25 0.30	23.50	23.50	6 Central
25-805-12	118.25 119.00 0.75	0.50	0.50	6 Central
25-805-12	119.00 119.50 0.50	11.33	11.33	6 Central
25-805-12	119.50 120.00 0.50	145.63	145.63	6 Central
25-805-12	120.00 120.50 0.50	82.40	82.40	6 Central
25-805-12	120.50 121.00 0.50	63.33	63.33	6 Central
25-805-12	121.00 121.35 0.35	3.27	3.27	6 Central
758-E-582	170.63 171.30 0.67	0.00	0.00	6 Central Parallel
758-E-582	171.30 171.90 0.60	23.87	23.87	6 Central Parallel
758-E-582	171.90 172.40 0.50	39.27	39.27	6 Central Parallel
1201-E-87	523.88 524.85 0.97	0.00	0.00	300 Zone
1201-E-87	524.85 525.40 0.55	51.10	51.10	300 Zone
1201-E-80	511.89 512.89 1.00	2.30	2.30	300 Zone
1201-E-80	512.89 513.89 1.00	7.20	7.20	300 Zone
1224-E-05	312.50 313.00 0.50	3.70	3.70	300 Fold
1224-E-05	313.00 313.50 0.50	25.40	25.40	300 Fold
1224-E-05	313.50 314.00 0.50	0.30	0.30	300 Fold
1224-E-03	256.40 256.90 0.50	8.60	8.60	300 Fold
1224-E-03	256.90 257.40 0.50	18.13	18.13	300 Fold
1224-E-03	257.40 257.90 0.50	5.03	5.03	300 Fold
1224-E-04	262.10 262.60 0.50	88.33	60.00	300 Fold
1224-E-04	262.60 263.10 0.50	10.00	10.00	300 Fold
1224-E-04	263.10 263.60 0.50	1.33	1.33	300 Fold
1224-E-04	263.60 264.00 0.40	3.97	3.97	300 Fold
1224-E-04	264.00 264.35 0.35	6.30	6.30	300 Fold
	274.30 274.90 0.60	27.70	27.70	720 Falcon
	274.90 275.40 0.50	0.48	0.48	720 Falcon
	275.40 276.00 0.60	3.16	3.16	720 Falcon
25-355-03	198.60 199.10 0.50	1.07	1.07	720 Falcon
25-355-03	199.10 199.71 0.61	20.87	20.87	720 Falcon
25-355-03	199.71 200.21 0.50	0.10	0.10	720 Falcon
25-355-06	171.95 172.40 0.45	0.10	0.10	720 Falcon
25-355-06	172.40 172.70 0.30	5.53	5.53	720 Falcon
25-355-06	172.70 173.20 0.50	2.23	2.23	720 Falcon
_5 555 55	2.7 0 17 0.20 0.00	2.20	0	. 20 1 010011

07.12.2025 Seite 11/16

25-355-07	152.10	152.90	0.80	72.77	72.77	720 Falcon
25-355-07	152.90	153.40	0.50	0.83	0.83	720 Falcon
25-355-07	153.40	153.90	0.50	0.00	0.00	720 Falcon
857-E-108	291.00	292.00	1.00	6.30	6.30	311 Zone
857-E-108	292.00	293.00	1.00	1.97	1.97	311 Zone
857-E-108	293.00	294.00	1.00	10.63	10.63	311 Zone
857-E-108	294.00	295.00	1.00	28.47	28.47	311 Zone
857-E-108	295.00	296.00	1.00	0.00	0.00	311 Zone
857-E-108	296.00	297.00	1.00	80.20	30.00	311 Zone
857-E-108	297.00	298.00	1.00	2.57	2.57	311 Zone
857-E-108	298.00	299.00	1.00	20.07	20.07	311 Zone
857-E-108	299.00	300.00	1.00	107.23	30.00	311 Zone
857-E-108	300.00	300.50	0.50	42.03	30.00	311 Zone
857-E-108	300.50	301.00	0.50	2.13	2.13	311 Zone
857-E-108	301.00	302.00	1.00	1.60	1.60	311 Zone
857-E-108	302.00	303.00	1.00	5.13	5.13	311 Zone
857-E-109	339.50	340.00	0.50	1.80	1.80	311 Zone
857-E-109	340.00	340.60	0.60	0.13	0.13	311 Zone
857-E-109	340.60	340.90	0.30	6.17	6.17	311 Zone
857-E-94	430.35	431.00	0.65	20.33	20.33	311 Zone
857-E-94	431.00	431.50	0.50	0.73	0.73	311 Zone
857-E-94		432.07		0.07	0.07	311 Zone
GS-25-184	169.00	170.30	1.30	0.57	-	Dorset West
GS-25-184	170.30	171.30	1.00	6.14	_	Dorset West
GS-25-184	171.30	172.30	1.00	0.36	_	Dorset West
GS-25-185	287.20	288.00	0.80	3.30	-	Dorset West
GS-25-185	288.00	288.80	0.80	2.34	-	Dorset West
GS-25-185	288.80	289.50	0.70	2.28	-	Dorset West
GS-25-185	289.50	291.00	1.50	0.51	-	Dorset West
GS-25-188	21.00	22.00	1.00	1.79	-	Dorset West
GS-25-188	22.00	23.00	1.00	2.40	-	Dorset West
GS-25-188	23.00	24.00	1.00	2.12	-	Dorset West
GS-25-188	24.00	25.00	1.00	2.01	-	<b>Dorset West</b>
GS-25-188	25.00	26.00	1.00	0.91	-	<b>Dorset West</b>
GS-25-188	26.00	27.00	1.00	0.14	-	<b>Dorset West</b>
GS-25-188	27.00	28.10	1.10	1.52	-	<b>Dorset West</b>
GS-25-193	50.20	51.00	0.80	2.34	-	<b>Dorset West</b>
GS-25-193	51.00	51.80	0.80	0.92	-	<b>Dorset West</b>
GS-25-193	51.80	52.60	0.80	0.17	-	Dorset West
GS-25-193	52.60	53.50	0.90	0.22	-	<b>Dorset West</b>
GS-25-193	53.50	54.50	1.00	0.05	-	<b>Dorset West</b>
GS-25-193	54.50	55.50	1.00	0.05	-	<b>Dorset West</b>
GS-25-193	55.50	56.50	1.00	0.15	-	<b>Dorset West</b>
GS-25-193	56.50	57.50	1.00	0.02	-	<b>Dorset West</b>
GS-25-193	57.50	58.50	1.00	0.04	-	<b>Dorset West</b>
GS-25-193	58.50	59.50	1.00	0.03	-	<b>Dorset West</b>
GS-25-193	59.50	60.00	0.50	1.50	-	Dorset West
GS-25-193	60.00	60.50	0.50	1.27	-	Dorset West
GS-25-193	60.50	61.30	0.80	0.80	-	Dorset West
GS-25-193	151.00	151.80	0.80	0.11	-	Dorset West
GS-25-193	151.80	152.40	0.60	4.80	-	Dorset West
GS-25-199	79.00	80.00	1.00	0.17	-	Dorset

07.12.2025 Seite 12/16

GS-25-199	80.00	81.00	1.00	1.19	-	Dorset
GS-25-199	81.00	82.00	1.00	1.43	-	Dorset
GS-25-199	82.00	83.00	1.00	0.58	-	Dorset
GS-25-199	83.00	84.00	1.00	80.0	-	Dorset
GS-25-199	84.00	85.00	1.00	0.02	-	Dorset
GS-25-199	85.00	86.00	1.00	0.20	-	Dorset
GS-25-199	86.00	87.00	1.00	0.09	-	Dorset
GS-25-199	87.00	88.00	1.00	0.51	-	Dorset
GS-25-199	88.00	89.00	1.00	1.64	-	Dorset
GS-25-199	89.00	90.00	1.00	1.24	-	Dorset
GS-25-199	90.00	91.00	1.00	0.34	-	Dorset
GS-25-199	91.00	92.00	1.00	0.43	-	Dorset
GS-25-199	92.00	93.00	1.00	1.19	-	Dorset
GS-25-199	93.00	94.00	1.00	1.18	-	Dorset
GS-25-199	94.00	95.00	1.00	0.34	-	Dorset

Hole No.	From (m)	To (m)	Core	Length (	(m)	Grade (g/t Au)	Cut (g/t	Grade Au)	Target
GS-25-200	222.50	223.00	0.50			4.10	-		<b>Dorset West</b>
GS-25-200	223.00	224.00	1.00			0.01	-		<b>Dorset West</b>
GS-25-200	224.00	225.00	1.00			0.95	-		Dorset West
GS-25-200	225.00	226.00	1.00			0.03	-		Dorset West
GS-25-200	226.00	227.00	1.00			0.04	-		<b>Dorset West</b>
GS-25-200	227.00	228.00	1.00			0.01	-		Dorset West
GS-25-200	228.00	229.00	1.00			80.0	-		<b>Dorset West</b>
GS-25-200	229.00	230.00	1.00			0.14	-		<b>Dorset West</b>
GS-25-200	230.00	231.00	1.00			0.10	-		<b>Dorset West</b>
GS-25-200	231.00	232.00	1.00			0.12	-		<b>Dorset West</b>
GS-25-200	232.00	233.00	1.00			0.00	-		<b>Dorset West</b>
GS-25-200	233.00	234.00	1.00			0.02	-		<b>Dorset West</b>
GS-25-200	234.00	235.00	1.00			0.04	-		<b>Dorset West</b>
GS-25-200	235.00	236.00	1.00			0.68	-		<b>Dorset West</b>
GS-25-200	236.00	237.00	1.00			0.72	-		<b>Dorset West</b>
GS-25-200	237.00	237.50	0.50			0.60	-		<b>Dorset West</b>
GS-25-200	237.50	238.00	0.50			1.32	-		<b>Dorset West</b>
GS-25-205	361.50	363.00	1.50			0.33	-		Dorset
GS-25-205	363.00	364.00	1.00			1.73	-		Dorset
GS-25-205	364.00	365.00	1.00			2.19	-		Dorset
GS-25-205	365.00	366.00	1.00			2.50	-		Dorset
GS-25-205	366.00	367.00	1.00			3.60	-		Dorset
GS-25-205	367.00	368.00	1.00			2.36	-		Dorset
GS-25-205	368.00	369.00	1.00			5.30	-		Dorset
GS-25-205	369.00	370.00	1.00			1.67	-		Dorset
GS-25-205	370.00	371.00	1.00			0.78	-		Dorset
GS-25-205	371.00	372.00	1.00			0.87	-		Dorset
GS-25-205	372.00	373.00	1.00			2.17	-		Dorset
GS-25-205	373.00	374.00	1.00			2.16	-		Dorset
GS-25-205	374.00	375.00	1.00			2.22	-		Dorset
GS-25-205	375.00	376.00	1.00			0.40	-		Dorset
GS-25-205	376.00	377.00	1.00			0.48	-		Dorset

07.12.2025 Seite 13/16

GS-25-205 377.00	378.00	1.00	1.11	-	Dorset
GS-25-205 378.00	379.50	1.50	0.47	-	Dorset
GS-25-208 273.50	275.00	1.50	0.23	-	Dorset
GS-25-208 275.00	276.50	1.50	0.17	-	Dorset
GS-25-208 276.50	278.00	1.50	0.01	-	Dorset
GS-25-208 278.00	279.50	1.50	0.02	-	Dorset
GS-25-208 279.50	281.00	1.50	0.15	-	Dorset
GS-25-208 281.00	281.80	0.80	0.05	-	Dorset
GS-25-208 281.80	283.30	1.50	0.15	-	Dorset
GS-25-208 283.30	284.80	1.50	0.05	-	Dorset
GS-25-208 284.80	285.80	1.00	0.30	-	Dorset
GS-25-208 285.80	286.80	1.00	3.40	-	Dorset
GS-25-208 286.80	287.80	1.00	7.40	_	Dorset
GS-25-208 287.80			4.00	_	Dorset
GS-25-208 288.60			7.30	_	Dorset
GS-25-208 289.20			8.00	_	Dorset
GS-25-208 290.10			6.20	_	Dorset
GS-25-208 291.10			0.24	_	Dorset
GS-25-219 119.00			35.20	_	Dorset West
GS-25-219 119.00 GS-25-219 123.90			1.07	-	Dorset West
GS-25-219 123.90 GS-25-219 174.00			1.07		Dorset West
GS-25-219 174.00 GS-25-219 215.70			1.33	-	Dorset West
				-	_
GS-25-221 128.40			1.29	-	Dorset
GS-25-221 129.40			0.84	-	Dorset
GS-25-221 130.40			4.50	-	Dorset
GS-25-221 131.40			2.33	-	Dorset
GS-25-221 132.40			2.39	-	Dorset
GS-25-221 133.40			1.71	-	Dorset
GS-25-221 134.40			1.00	-	Dorset
GS-25-221 135.40			1.49	-	Dorset
GS-25-221 136.40			2.25	-	Dorset
GS-25-221 137.40			1.21	-	Dorset
GS-25-221 138.40			1.70	-	Dorset
GS-25-221 139.20		0.80	1.36	-	Dorset
GS-25-222 44.50	45.40	0.90	1.94	-	Dorset
GS-25-222 45.40	46.40	1.00	1.72	-	Dorset
GS-25-222 46.40	47.40	1.00	1.86	-	Dorset
GS-25-222 47.40	48.40	1.00	2.00	-	Dorset
GS-25-222 76.10	77.00	0.90	2.13	-	Dorset
GS-25-222 77.00	77.70	0.70	4.80	-	Dorset
GS-25-224 6.30	7.30	1.00	2.33	-	Dorset
GS-25-224 7.30	8.00	0.70	4.40	-	Dorset
GS-25-224 8.00	9.00	1.00	4.20	-	Dorset
GS-25-224 9.00	9.80	0.80	1.73	-	Dorset
GS-25-224 54.50	55.30	0.80	1.05	-	Dorset
GS-25-224 55.30	56.10	0.80	2.54	-	Dorset
GS-25-225 4.80	6.00	1.20	2.64	-	Dorset
GS-25-225 6.00	7.00	1.00	5.80	-	Dorset
GS-25-225 7.00	7.90	0.90	1.32	-	Dorset
GS-25-225 22.90	23.70	0.80	2.54	-	Dorset
GS-25-225 23.70	24.50	0.80	1.46	-	Dorset
GS-25-227 49.00	50.00	1.00	0.10	-	Dorset

07.12.2025 Seite 14/16

GS-25-227 50.00	50.90	0.90	0.24	-	Dorset
GS-25-227 50.90	51.90	1.00	1.65	-	Dorset
GS-25-227 51.90	52.90	1.00	1.45	-	Dorset
GS-25-227 52.90	53.90	1.00	0.27	-	Dorset
GS-25-227 53.90	54.90	1.00	0.25	-	Dorset
GS-25-227 54.90	55.70	0.80	0.47	-	Dorset
GS-25-227 55.70	56.50	0.80	0.34	-	Dorset
GS-25-227 56.50	57.30	0.80	0.07	-	Dorset
GS-25-227 57.30	58.10	0.80	0.17	-	Dorset
GS-25-227 58.10	59.10	1.00	2.22	-	Dorset
GS-25-227 59.10	60.20	1.10	3.10	-	Dorset
GS-25-227 60.20	61.10	0.90	1.04	-	Dorset
GS-25-227 61.10	62.10	1.00	1.79	-	Dorset
GS-25-227 62.10	63.10	1.00	0.66	-	Dorset
GS-25-230 136.00	137.00	1.00	0.64	-	Dorset
GS-25-230 137.00	138.00	1.00	0.38	-	Dorset
GS-25-230 138.00	139.00	1.00	0.35	-	Dorset
GS-25-230 139.00	140.00	1.00	0.26	-	Dorset
GS-25-230 140.00	141.10	1.10	0.32	-	Dorset
GS-25-230 141.10	142.20	1.10	0.46	-	Dorset
GS-25-230 142.20	143.30	1.10	1.55	-	Dorset
GS-25-230 143.30	144.00	0.70	2.88	-	Dorset
GS-25-230 144.00	144.80	0.80	2.38	-	Dorset
GS-25-230 144.80	145.90	1.10	3.00	-	Dorset
GS-25-230 145.90	147.00	1.10	1.25	-	Dorset
GS-25-230 147.00	148.00	1.00	1.08	-	Dorset
GS-25-230 148.00	149.00	1.00	1.35	-	Dorset
GS-25-230 149.00	150.00	1.00	0.31	-	Dorset
GS-25-230 150.00	151.10	1.10	0.16	-	Dorset
GS-25-230 151.10	152.20	1.10	0.30	-	Dorset
GS-25-230 152.20	153.30	1.10	0.70	-	Dorset
GS-25-230 153.30	154.00	0.70	3.00	-	Dorset
GS-25-231 105.20	106.10	0.90	0.70	-	Dorset
GS-25-231 106.10	107.10	1.00	1.52	-	Dorset
GS-25-231 107.10	108.00	0.90	1.45	-	Dorset
GS-25-231 108.00	109.00	1.00	2.61	-	Dorset
GS-25-231 109.00	109.90	0.90	6.00	-	Dorset
GS-25-231 109.90	110.90	1.00	0.91	-	Dorset
GS-25-231 110.90	111.80	0.90	0.33	-	Dorset
GS-25-231 111.80	112.80	1.00	2.90	-	Dorset
GS-25-231 112.80	113.80	1.00	2.80	-	Dorset
GS-25-231 113.80	114.70	0.90	0.17	-	Dorset
GS-25-231 114.70	115.70	1.00	0.11	-	Dorset
GS-25-231 115.70	116.60	0.90	0.24	-	Dorset
GS-25-231 116.60	117.40	0.80	1.29	-	Dorset
GS-25-231 117.40	118.30	0.90	0.61	-	Dorset
GS-25-231 118.30	119.00	0.70	4.50	-	Dorset
GS-25-231 119.00	119.70	0.70	0.71	-	Dorset
GS-25-240 35.90	36.90	1.00	5.00	-	Dorset
GS-25-240 36.90	37.90	1.00	11.30	-	Dorset
GS-25-240 37.90	38.80	0.90	9.70	-	Dorset
GS-25-240 38.80	39.70	0.90	1.02	-	Dorset

07.12.2025 Seite 15/16

\*Given that there is no conceptual geological model for Dorset, neither true width nor top cuts have been defined.

Photos accompanying this announcement are available at

https://www.globenewswire.com/NewsRoom/AttachmentNg/40dd1a24-a301-46e4-a44e-07412b409b73
https://www.globenewswire.com/NewsRoom/AttachmentNg/d04e3e38-e640-4552-9d22-6b424aeb129d
https://www.globenewswire.com/NewsRoom/AttachmentNg/38bbbebe-b8ef-4673-bdb7-d3f6abbc6792
https://www.globenewswire.com/NewsRoom/AttachmentNg/cd1ae661-92ef-41d3-92cd-bf3de41774f5
https://www.globenewswire.com/NewsRoom/AttachmentNg/1c027543-de06-4d21-9c14-f750e219d7ba
https://www.globenewswire.com/NewsRoom/AttachmentNg/afbf89d0-796b-4189-bbfb-e6724be29ee3
https://www.globenewswire.com/NewsRoom/AttachmentNg/4a0ae989-06f0-4b46-9a35-0e45d9cf3c0c
https://www.globenewswire.com/NewsRoom/AttachmentNg/f36694de-42eb-4182-8186-10d3e6bc6607
https://www.globenewswire.com/NewsRoom/AttachmentNg/f2548b0a-3fe5-4905-808b-b0d0df1aa65f
https://www.globenewswire.com/NewsRoom/AttachmentNg/b0e5565d-2961-4e99-8d93-c79576a8eb39
PDF Available:

http://ml.globenewswire.com/Resource/Download/e932a5fa-9ed3-433f-8107-b0671faf585a

Dieser Artikel stammt von Rohstoff-Welt.de Die URL für diesen Artikel lautet:

https://www.rohstoff-welt.de/news/703872--Wesdome-Gold-Mines-Ltd.-Provides-Comprehensive-Eagle-River-Exploration-Update.html

Für den Inhalt des Beitrages ist allein der Autor verantwortlich bzw. die aufgeführte Quelle. Bild- oder Filmrechte liegen beim Autor/Quelle bzw. bei der vom ihm benannten Quelle. Bei Übersetzungen können Fehler nicht ausgeschlossen werden. Der vertretene Standpunkt eines Autors spiegelt generell nicht die Meinung des Webseiten-Betreibers wieder. Mittels der Veröffentlichung will dieser lediglich ein pluralistisches Meinungsbild darstellen. Direkte oder indirekte Aussagen in einem Beitrag stellen keinerlei Aufforderung zum Kauf-/Verkauf von Wertpapieren dar. Wir wehren uns gegen jede Form von Hass, Diskriminierung und Verletzung der Menschenwürde. Beachten Sie bitte auch unsere AGB/Disclaimer!

Die Reproduktion, Modifikation oder Verwendung der Inhalte ganz oder teilweise ohne schriftliche Genehmigung ist untersagt! Alle Angaben ohne Gewähr! Copyright © by Rohstoff-Welt.de -1999-2025. Es gelten unsere <u>AGB</u> und <u>Datenschutzrichtlinen</u>.

07.12.2025 Seite 16/16